08 Grammar L6 Answers

Lesson Conversation (Kanji Edition)
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The Negative Casual Form

N1 ZOUVIIXIT DL DLW brUERA,
Sono hikoki ni noru ka noranai ka wakarimasen.
() don’t know whether or not (we) are taking that plane.
NW\W2) 2074 % RIBWT (30,
Sono wain o nomanaide kudasai.
Don’t drink that wine, please.

(1] FANT K% HURWT (EXN,
Tesuto de hon o akenaide kudasai.
During the test, don’t open (your) book, please.
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IZ] YEELIC BEE DT DILW brUERA.
Tomodachi ni okane o kasu ka kasanai ka wakarimasen.
(D) don’t know whether (I) am going to borrow money from (my) friend or not.

3] Z00WHT BIBRVWT (EXn,
Sono ike de oyoganaide kudasai.
Don’t swim in that pond, please.

(4] 1285CTH, BN D250 DALRWD bArUIRA
Juni-ji desu. Uchi e kaeru ka kaeranai ka wakarimasen.
(It) is 12 o’clock. (I) don’t know whether (I) am going to go home or not.

(5] 4B XUTT, IbXE X3h XB0 b EEA
Kyo wa samui desu. Uwagi o kiru ka kinai ka wakarimasen.
(It) is cold today. (I) don’t know whether to wear a jacket or not.

(6] 3 UXAIT DIFED DIESBLA bAYERA.
Fuji-san ni noboru ka noboranai ka wakarimasen.
(D) don’t know whether (I) am going to climb Mt. Fuji or not.

SHEIE WA 3oTWBAL, AX%E  DTARLT  (FEX0,
Kyo wa ame ga futte iru kara, kasa o wasurenaide kudasai.
(It) is raining today, so don’t forget (your) umbrella, please.

ZOBNLE BXLWT (XN,
Kono okashi o tabenaide kudasai.
Don’t eat these sweets, please.

The &, » and 12 Particles

) A ThlLElr Zunk REEAD.]
“Ashita wa eiga o mimasen ka. ”
“Won'’t (you) see a movie tomorrow?”

B 72N HUETL,]
“Tesuto ga arimasu yo.”
“There is a test!”

A Thd, 250, XARATTRA,]
“A, s6 ka. Zannen desu ne”
“Oh, that’s right. That’s too bad, huh?”

(1] A TEEXAHY BEREE #ELTOITH.)
“Tanaka-san ga Nihongo o hanashite imasu ne.”
“Mr. Tanaka is speaking Japanese, isn’t he?”

B ldIw, Lxr>FT¥4,]
“Hai. Jozu desu ne.”
“Yes, (he) is skilled, isn’t he?”
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(2] A TERIAE BT 250TT4, ]

“Nishimura-san wa osushi ga kirai desu ne.”
“Ms. Nishimura hates sushi, doesn’t she?”

B Tz, BHXAE BTl FAuTETHL

“lie, Nishimura-san wa osushi ga daisuki desu yo.”

“No, Ms. Nishimura loves sushi.”

3] A TZofild I2{LVnTTia,]
“Kono hana wa utsukushii desu ne.”
“This flower is beautiful, isn't it?”

B litw, 92 LWTTHA, ¥ZT EFWIFLEH.]

“Hai, utsukushii desu ne. Doko de kaimashita ka.”
“Yes, (it) is beautiful, isn’t it. Where did (you) buy it?”

A TE50R3 BETTL ]

“Mo neru jikan desu yo.”
“(It) is already time that (we) sleep.”

B Mdw, 13w, aF¥L,]
“Hai, hai, nemasu yo."
“Yeah, yeah, (I) will go to sleep.”

TW3% and THh3

V) FWITA, LEXAT E—ILE  gRAT

Mai-ban, Yamada-san wa biiru o nonde imasu.
Every night, Mr. Yamada is drinking beer.

(1] ##@F> brliz Fy—% VOT
Mai-shi-matsu watashi wa gita o hiite imasu.
Every weekend, I play my guitar.

(2] A TE®XAET 4 F% LThFETH,]

“Tanaka-san wa ima nani o shite imasu ka.”
“Where is Ms. Tanaka now?”

B 4, &by LT WEd,)
“Ima, tomodachi to hanashite imasu.”
“(She) is talking to (her) friend now.”

Pl IHrE BIFZT WFLIE,

Kino wa uta o oboete imashita.
Yesterday, (1) was memorizing a song.

PHISAIE RRIC FAT VET

Nakagawa-san wa Toky6 sunde imasu.
Ms. Nakagawa lives in Tokyo.

WIS

WET,
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5

AIAZAIE AE O FEAT VI,
Sumisu-san wa hon o yonde imasu.
Mr. Smith is reading a book.

nNasilx #HLwiFH Lz »3I-5T WwWET,
Kawaguchi-san wa atarashii boshi o kabutte imasu.
Ms. Kawaguchi is wearing a new hat.

HPIAIX IHXE 2T WIT,
Tanaka-san wa uwagi o kite imasu.
Mr. Tanaka is wearing a jacket.

Ehnt ZOREWT—U% FVWT WET,
Dare ga sono okii batsu o haite imasu.
Who is wearing those big boots?

BlX AHAWT »HYET
Kuruma wa migaite arimasu.
The car is polished.

HL=z XBELBHN bELOVZIN RITDHOT E—nt BE-oTHYIT,
Ashita tomodachi ga watashi no ie e kimasu node biiru ga katte arimasu.
(My) friend is coming to my house tomorrow, so the beer is bought.

£5 and ¥

NN ATH»rWEIX ) BbYELED.]

“Kaigi wa mo owarimashita ka.”
“Is the meeting already finished?”

B NIw, £5 BbYFlLi.]
“Hai, mo owarimashita.”
“Yes, (the meeting) is already finished.”

nn2) A TMan BXREWTT, |

“Nani ka tabetai desu.”
“(I) want to eat something.”

BIKELDN FE HVFET.)
“Kudamono ga mada arimasu.”
“There is still fruit.”

S5ATY, 2L, FEILWTT,
Go-gatsu desu. Shikashi, mada samui desu.
(It) is May. However, (it) is still cold.

B IAE EEVWTIZ ThoTnET,

Tanaka-san wa mada isu ni suwatte imasu.
Ms. Tanaka is still sitting in the seat.



HLEDO  LwdFEwd, ) ®FAS LIl
Ashita no shukudai wa, mo zenbu shimashita.
(I) already did all of yesterday’s homework.

4] B3AIZ ) AUELE,
Ofuro ni mo hairimashita.
(I) already took a bath.

5] &BX3DE ) (XA BNIlL.
Tabemono o mo takusan tabemashita.
(I) already ate a lot of food.

(6] BRIAIE FFE BETNRWTT,
Otosan wa mada okite inai desu.
Father isn’t awake yet.

a—b—% LIl LoLl, FE RLENTT,
Kohii o nomimashita. Shikashi, mada nemutai desu.
(I) drank coffee. However, (I) am still sleepy.

HPEXAIZ ) EBIEZ »ITIEA
Tanaka-san ni mo denwa o kakemasen.
(D) still haven’t called Mr. Tanaka.

Location words

nv) vl wIo (E)  zwnwEd,

Inu wa isu no (ue) ni imasu.
The dog is on [top of] the chair.

1 Bl 2 Lk 3 T
mae ue shita
in front up down

Grammar L6 Answers

4 %5
ushiro
behind
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1] X5l & (F) 1z VI
Zasshi wa hon no (shita) ni arimasu.
The magazine is under the book.

1T 72LA 2 T 3 k
ushiro shita ue
behind below on top of

(2] YAZTIE 3o (d) T,
Ringo wa hako no (naka) desu.
The apples are inside the box.

1 £ 2 ZIX 3 67K
soto soba chikaku
outside next to near

(3] ®EEXAIE BRIALD (18A) 12 FEoTwET,
Tanaka-san wa Nishimura-san no (ushiro) ni tatte imasu.
Ms. Tanaka is standing behind Mr. Nishimura.

1T T 2wl 3 &5
shita mae ushiro
down in front of in back of

274

4 7l
mae
in front of

4 %

naka
inside

4 E

ue
on top of



(4] FT—bME Ro (L) T,

Depato wa eki no (ue) desu.
The department store is above the station.

1Tk 2 9LA 3 Wl
ue ushiro mae
on top of behind in front of

5] 3Kl 2—=ur—20 (BN 12 HVET,
Fuku wa sutsukésu no (soto) ni arimasu.
The clothes are outside of the suitcase.

1T P 2 b 3 k
naka soto ue
inside outside on top of

6] E#E REO (B HUET.
Nagasaki wa Kumamoto no (nishi) ni arimasu.
Nagasaki is west of Kumamoto.

1T ™ 2 R 3 @
minami higashi nishi
south east west

Grammar L6 Answers

4 T
shita
below

4 F
aida
in-between

4 3t

kita
north
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LEXAIE TrIVAo (§1) 12 WwWET,
Yamada-san wa byoin no (mae) ni imasu.
Mr. Yamada is in front of the hospital.

1 8l 2 HLA 3 k
mae ushiro ue
In front of behind on top of

F
LA

[Tz
CEPER

Wi
Bii

Wl IIAEEO (F1X) ItwET,
Inu wa hondana no (soba) ni imasu.
The dog is near the bookshelf.

1T ¥y 2 k 3 T
tonari ue shita
next to (in a line) on top of below

9] 7x—713 x50 (eRY) 1z HUVET
Fuoku wa sara no (tonari) ni arimasu.
The fork is next to the plate.

1 %5 2 Al 3 iy
ushiro mae tonari
behind in front of next to

4 v
tonari
next to

4 ZlI
soba

near / next to

4 %
migi
right
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—

10] ZAUDIZ At <vo (M) T,

Enpitsu wa hon to pen no (aida) desu.
The pencil is between the book and the pen.

1 ZiX 2 #K 3 4 rigi)
soba chikaku aida tonari
next to near in-between next to

JLPT-Style Questions

(1] #203) LEo>ThETr,
Gasu (wa) shimatte imasu ka.
Is the gas shut of f?

1 % 2 T 3 13 4 »
o de wa ka

The correct answer is #3- | .

We want to talk about the state of something, we will typically use |3 or %' and an intransitive verb
(a verb that does not take an object). L £% (shimaru) is intransitive. If the verb were L& % (shimeru,
transitive) we could use the % particle like in the following sentence.

A%  LHTHET,

Gasu o shimete imasu.
(I) am shutting off the gas.

Other Answers

% — The % particle usually marks the object of the sentence. However, since the verb is intransitive,
it cannot take an object, so we cannot use the % particle.

T - The T particle marks the way or tool that we use to do something. We are not using the gas to
shut off anything, so that particle doesn’t work here either.

Lt #rb—% R‘’XNIT,

Hashi de karé o tabemasu.
(I) eat curry with chopsticks.
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/™ -The 7 particle is used to show options in Japanese, and can usually be translated as ‘or.” In the
question above, we are not talking about two possible options. We want to specifically talk about the

gas, so the 7 particle doesn’t work here.
E— BITE REEZWTT,

Biiru ka osake o nomitai desu.
(I) want to drink beer or liquor.

™)

HPIXAIZ HFWEILE (H->T0WET),
Tanaka-san wa akai boshi o (motte imasu).
Mr. Tanaka is carrying a red hat.

1T %7 2 EoTC0WET 3 ETWET 4 H%7

momasu motte imasu motate imasu mochimasu

The correct answer is #2- £ >CTWE T .

We want to talk about the state of carrying the red hat, so it makes the most sense to say >T\E7.

Other Answers
HF 3 and H/-T\F 7 - These are both incorrect forms for > (motsu, to hold).

5 E ¥ - This is the non-past form of £, but it is not used to talk about someone carrying
something. We need to use the C\»% form (page 116)

Ii] AIAZALLIE (25TWIFHA), YABRATT,
Sumisu-san to wa (atte imasen). Donna hito desu ka.
As for Mr. Smith, (I) haven’t met him. What kind of person is (he)?

1 2nWFHA 2 2WFEL- 3 £5TWET 4 25TWFHA
aimasen aimashita atte imasu atte imasen

The correct answer is #4- &> CTWEHA .

We want to talk about the state of not meeting Mr. Smith, so we should use the Tu\\% form. Since
we are talking about the fact that we did not meet him, we need to use the negative.

Other Answers

HW\WFEHA - To talk about the state of something, we need to use the T\ % form of a verb. With
some special exceptions like L% (shiru, to know) , which commonly uses the regular negative form.

O bHrLIZ LEIALZ LUIEA.

Watashi wa Yamada-san o shirimasen.

X LT LEIAZ LoThWIHA*

Watashi wa Yamada-san o shitte imasen.
I don’t know Mr. Yamada.

* Less common usage.
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HWF L 7= - Since the speaker asks ‘ ¥ AL ATT 2, it doesn’t seem like they know him. So, it
wouldn’t make sense for him to say that he met Mr. Yamada. Look out for context clues like this on
the test.

H->TWZE T - This would mean that the speaker is meeting Mr. Tanaka right now. It wouldn’t make
much sense to be asking what kind of person he was if he was in the process of meeting him.

R=T4—=T #HLWw (2% KD E2rLVD) brEEi.
Patii de atarashii kutsu o (haku ka hakanai ka) wakarimasen.
(I) don’t know whether to wear my new shoes to the party or not.

1 K5%n» ZIuwwny 2 13 @a»rtuy
kuru ka konai ka haku ka hakanai ka

3 X% xwh 4 N3IBED DISELL
kiru ka kinai ka kaburu ka kaburanai ka

The correct answer is #2- [< D EDH %=L D .

The correct verb to use with {2 (kutsu, shoes) is [3< (haku, to put on something you pull up, like
pants).

Other Answers

(Bh 7\ — We are not talking about coming or not coming to the party. We have an object
here, {2, that we are doing something with, so we cannot use this answer.

X547 X7\ —The verb X% does mean ‘to put on,” but this is usually used for things above
the waist like a t-shirt or jacket. It is not the best answer here.

N35SI — The verb 7°.3.% also means ‘to put on,” but it means to put something on
your head and not pull something on.

5] A TFAMI ¥ITLEN]
“Tesuto wa do deshita ka.”
“How was the test?”

B IZ9T3 (#a), "AATLE,]
“So desu (ne), kantan deshita.”
“That’s right, (it) was easy.”

1T 2 n 3 b 4 X

ka ne wa yo

The correct answer is #2-1a.

The phrase <9 T3 can be combined with different particles to have different meanings. In this
case, © 7 T3 42 means ‘that’s correct’ or ‘that’s right.” It might sound like it doesn’t really fit here,
but think about the following exchange in English

A: How was the party?
B: Oh, that’s right — the party. I forgot to tell you about it. It was a blast. You missed out.
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Speaker B is suddenly remembering that she went to the party and so that is why she responds the
way she does.

Other Answers

A — The phrase ‘ Z 9 T¥ 2"’ means ‘really?, which doesn’t make a lot of sense here.

& and #> - The phrase ‘ £9T94JL ’or ‘€9 T¥ 4>’ are used to assure someone that something is
correct.

A TENXAIZ EFFILY FoZAULFULIE.

“Ishikawa-san wa moderu to kekkon shimashita.”
“Mr. Ishikawa married a model.”

B NIAYITEN, ]
“Honto desu ka.”
“Really?”

A TZ5THL.]
“So desu yo."
“It’s truel!”

(6] A TTAL®IT 98Iz HFT (1),

“Densha wa kyu-ji ni demasu (ne).”
“The train leaves at 9, right?”

B Nz, 8exic HMIEd ().
“lie, hachi-ji ni demasu (yo).”
“No, (it) leaves at 8.”

1 /1 2 t/%n 3 X/ » 4 /L

ne/ne yo/ne yo/ka ne/yo

The correct answer is #4-1a / & .

Speaker A is checking the departure time of the train with the #2 particle. Speaker B is giving
speaker A new information, so Speaker B wants to make sure Speaker A listens and understands that

it is something new. So, the J particle is the best answer for the second space.

Other Answers

%3 /%32 and X /42 - It sounds a bit strange for Speaker B to be checking on information in this way
after Speaker A has either checked on the information (using the #2 particle) or told Speaker B rather
directly what time the train leaves (using the X particle).

L / » - This also sounds strange for Speaker B to be asking if the train leaves at 8, after Speaker A
has clearly and confidently told him it leaves at 9.
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BHRHIAEZ (B)) LUTELED
Nishimura-san o (mo) yobimashita ka.
(I) already called Mr. Nishimura.

1 YA 2 EQM 3 »D 4 %5
donna mada ano mo

The correct answer is #4- &5 .

The adverb Z 7= is usually only used with verbs in the non-past tense, and ¥ A% and $® cannot
be used in this way, so the best answer is £ .

Other Answers

Y’ A7% — The question word ¥ A7 means ‘what kind of’ and usually precedes a noun.

A TYALZNBEDY  FTETTD, |
“Donna iro ga suki desu ka."
“What kind of color do (you) like?”

B XY UNTEXTT,
“Midori ga suki desu.”
“(I) like green.”

/2 - The adverb /2 shows the state has not changed. It is very similar to ‘still’ or ‘yet’ in English.
wi XE RRIT FATWIT,

Imoto wa mada Tokyo ni sunde imasu.
My younger sister still lives in Tokyo.

HD - The word H D is used to refer to an object that is distant from both speaker and listener or is
known by both speaker and listener but not present.

kB HOLAMTAT ATEELED,

Senshil ano resutoran ni ikimashita ka.
Did (you) go to that restaurant (we talked about before) last week?

A TRIZ YZTHh.)
“Chichi wa doko desu ka.”
“Where is father?”

B TLYFHA. (F) »Z-oThFHA.]

“Shirimasen, (mada) kaette imasen.”
“(I) don’t know, he hasn’t returned yet.”

4 F7=
mada

1 ¥y 2 ¥YZy 3
doko ka doko mo

3 df
O v
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The correct answer is #4- F71z .

The adverb %72, when used with a negative verb, means ‘yet’ in English. In Speaker B’s line above,
we are talking about the state of not returning, so we use the T\ % form (page 116). Notice the
difference in the following two forms.

RiI 7 »2-oTWERA,
Chichi wa mada kaette imasen.
Father hasn'’t returned yet.

Rl F7= H»2YVFEEA,
Chichi wa mada kaerimasen.
Father didn’t return yet.

Other Answers

Y'Zn - ¥'Zh with an affirmative verb can mean ‘somewhere’. This sentence uses a negative verb
so we can’t use this here.

Y¥'Z# — ¥'Z3 is usually used with negative verbs like in this sentence. However, it needs the |2
particle in this sentence to be grammatical.

£ 9 - If you use the adverb ¥ 7 , it means that the state has changed. So, using %9 in the sentence
above has a meaning of something like “Father hasn’t returned already.”, which doesn't make a lot of

sense.

(9] HELE bvhA KFIT A3-0TT, 413 8212 (2F-5T0ET).
Watashi wa rainen daigaku ni ikitai desu. Ima wa okane ni (komatte imasu).
I want to go to university next year. Now, (I) am worried about money.

1 2FE->TnWE 2 ZFVEV 3 2FEF-5THYET 4 ZFUYFEL=

komatte imasu komarimasu komatte aru komarimashita

The correct answer is #1- 2¥>CTWET .

Since the speaker is going to university next year, we can assume that they are still worried about

money. The best answer is ZF->T\ X7 because it shows that the speaker is currently in a state
of worry.

Other Answers

ZF £ - Since we use the word 4 (ima, now), using the non-past form can’t be used in this
context.

CEoTHYET - The form TH 5 is used to show the result of something that has completed.
Typically, this is not used for feelings like ‘to worry’. It is more often used when something has been
done to something.

ff¥  PWTHY FETI,
Nan to kaite arimasu ka.
What is written there?
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ZF Y F L7z - This is the polite past tense form of Z %% . We can assume that he is still worrying
and hasn'’t finished worrying. So this doesn’t make much sense here.

FLO HuwiEnEREEZ Bin (BbRWV) » brUFdi.
Atarashii keitai denwa o kau ka (kawanai) ka wakarimasen.
(I) don’t know if (I) am going to buy a new cell phone or not.

1T BEHTWN 2 BEWwIHA 3 EoTunin 4 BN
kawanai kaimasen katte inai kaitaku nai

The correct answer is #1- 851>,

This is a sentence pattern that means [(I) don’t know whether or not X]. The form is as follows.

Casual dictionary form + 7" + negative non-past casual form of the same verb + 7* + ) LA .

() dor’t know whether or not X.

For more details, check p.113.

Other Answers

BWEHA, BT, BEWW/={ZLW\ - The negative non-past casual form of the verb that is used
before the first 2" is used before the second 7 in the sentence pattern above. So none of the other
answers will fit.
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